THRBELIRES

[ £/ 20 &£ 6 A 30 B IR ]

1THEX 17T Bl X 4 5 S it # O ATEX 1T EL X 4 5 58 7t it A fTEX 1T Bl X 4 5 S it Juingid
1/RER 85 94 179 50 201 | &7 ERED 358 390 748 276 36 |BHABEN 497 494 991 281
(0] 1) | ( 1) (—TH) 3) NniC 4 STH) 0) | ( 1) | ( 1)
pALUN = 358 385 743 279 202| &7 R D 679 710 1,389 547 321 | HEE— 0 0 0 0
(0] 1) | ( 1) (ZTH) 1) NniC 2 (—T H1~4%Hh) 0/ olC o0
3| HTH 75 95 170 53 203 |& /7 AR 584 600 1,184 443 322| X HE— 46 11 87 29
(|l oo/ 0 (ZTH) 0) 1) | ( 1) (ZT B4 0/ olC o0
4B 360 414 774 324 204 | & /7 FAbER 519 554 1,073 382 323 | HE— 675 634 1,309 381
(0|l oo/ 0 (MTH) 1) 2 C 3 (=T B4 0) | ( 1) | ( 1)
5— /B4 73 64 137 33 211 |k 438 453 891 334 324 | HEE 340 361 701 240
(0|l oo/ 0 (—TH) 0) 1) | ( 1) (YT H1~173H) 0/ olC o0
6| —/F4 93 91 184 50 212 |kt 202 252 454 164 325|E HEE 678 705 1,383 401
(0] 1) | ( 1) (ZTH) 0) 0 C 0 (BT B4 0/ olC o0
7= B4 176 157 333 109 213 |kt 288 273 561 191 326 | HE— 316 350 666 186
(0|l oo/ 0 (=TH) 0) 0 C 0 ST H1~17%H) 0/ 2/ 2
8|EFH 168 160 328 101 214 |k 354 376 730 2717 327 | HEE = 766 800 1,566 447
(0] 1) | ( 1) (MTH) 0) 1) | ( 1) (T B4 0/ C 0olC 0
9| gt H 55 46 101 28 221 | BT OY—TH 577 600 1,177 402 328 |k HEE = 220 220 440 141
(0]« 1) | ( 1) 0) 0, C 0 O\T H48) 0) | ( 1) | ( 1)
105 71 71 142 40 222 | BHITOY T H 699 732 1,431 485 329|pk M = 2 7 9 5
(0|l oo/ 0 1) 4) (5 LT B4 0/ ol o0
11| K& 47 52 99 22 223|BHITDOY =T H 866 861 1,727 589 331 | HEE — 0 0 0 0
(|l oo/ 0 0) HniC 1 (— T H5~8%FHh) 0/ olC o0
12|45 5% 107 94 201 51 231|HEE—TH 623 660 1,283 410 334 | HEE = 262 268 530 174
( 0) | ( 1) ( 1) 0) 0) | ( 0) (lUT H18~28%i) 4) | ( 7) | ( 11)
13 K& 51 54 105 25 232|lHEE-TH 787 837 1,624 546 336 | HEE — 421 444 865 245
(0|l oo/ 0 1) 2 C 3 (ST H18~35%H1) 0/ olC o0
14 A FH 81 88 169 11 233|HER=TH 381 395 776 253 401| ERAA—TH 332 349 681 216
(0|l oo/ 0 1) NniC 2 2. 0l 2
15/8A 112 93 205 53 241 | kLT 46— 320 330 650 215 402 ERAARTTH 0 0 0 0
(0|l oo/ 0 1) 2 C 3 0/ olC o0
16|75 5 H 113 117 230 59 242 |1 T54E — 3 5 8 4 410 KiBK 609 616 1,225 356
(0] 1) | ( 1) 0) 0, C 0 5) | ( 10) | ( 15)
20 [JE K fh 237 211 448 159 301 | MG HH— 428 454 882 330 412 KiGKIR 218 211 429 132
(0|l oo/ 0 (—TH) 1) 0) | ( 1) 0/ ol o0
101 | K74 342 376 718 242 302 RIAEEH— 421 465 886 347
(—TH) ( NI 3 4 (ZTH) 1) 2 C 3
102 | K74 269 272 541 200 303 HGH = 567 629 1,196 429
(ZTH) (0|l oo/ 0 0) NnicC 1
111 O&hE—TH 829 839 1,668 569 304 RAGE Y =— A 170 178 348 156
(. 5]1C 5( 10) 1) 4) (5
M2/ 0&0WETH 461 423 884 331 M |\BFHABEE— 456 500 956 319
(0|l oo/ 0 (—TH) 2) 3 (5
12117 —> bl 282 250 532 158 312\BHABE 468 520 988 304
(0|l oo/ 0 (ZTH) 0) 0 C 0
140/ L HDR 165 139 304 112 NI FAEE= 600 608 1,208 354
(—TH) ( NDIC 0 ( 1) (=TH) 0) 1) | ( 1)
141 | HOR 52 61 113 42 M4 BHABRE= 196 201 397 136
(—TH) (0|l oo/ C 0 (MTH) 4) . C D
142\ L H0R 348 357 705 254 5 HAREL 960 895 1,855 588
(ZTH) (. 2]C 5 C 7 (WTH,LTH) 1) 0) | ( 1)
() PIISNE A B SE L THhHOIMK [ A ] B 22336 A % 22981 A 5 45317 A 15100 tHE
KIZV—2e X, O E— T BATBIXIZE £4L508, BN L TVET, ( 39) ( 73) ( 112)
SO KM IZ, BT FATEXISE FD08, HBNCERFL TET, [ BTAXRET ) B 22315 A % 22940 A st 45255 A 15,083 tH
[ &) B 21 A 41 A 62 A 17 #E




